(A2 : opes2ul QR0 : 7 UA ;1

AsH sAEl
7. %ol Ul
AlOUe] oM Adlw: /7
(Qentelle] otin: Ad ololR;
A atsel udl: UHA: 30 AlAe $E 9LQL: 20
Yst:1 o{lA WAL Uslloll Grir cull. [8]

(1) Qusetl Acusll Y&l o 12 s & ?
(2) ststudooll Qs A3BUAHL AHA SIAHL HSEAl 3H 819l of dcll ?
Auall QR Wl teal ?
(3) Ausal ARl doarll s Holl ?
(4) sislUololl cfledal Ue@ AGBAAUR Uclleall & 2N &cll ?
wat:2 o{lA el AcEledl sl Yudla sl @l [4]
(1) uuoyedl
2) [QurRyual
()
@) Jlcuell
Y33 o{lA Ul A€l 2AcE Al sHML N6l Al [4]
asld, AR, 3narll, Gust?

ust:4 o(1A et 3(@ylolleoll wed Ul Aoll ctsaylol sA. [ 4]

(1) GHE ¢R of wadl -

(2) dsoll A o g




